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Rearrangement of Sentence (Type two) Questions for Bank
Exams (IBPS Clerk Pre & SBI Clerk Pre)

Para Jumble T2 Quiz 4

Directions: In the questions given below, a sentence has been broken down into four
fragments labeled (A), (B), (C) and (D) and arranged, not necessarily in the correct order. You
have to find the correct order of arrangement from the options given below. In case, the
sentence is correct in its original form, please select (E) as your answer.

1. and upholds a tradition of dissent which is (A)/ in line with protecting the
rights of (B)/JNU promotes a diverse yet inclusive campus (C)/ free speech and
promoting the values of democracy (D)/

A. CABD B. CBDA C. DCBA D. BACD E. No rearrangement required

2. Economic indicators relating to (A)/ four years of the present government (B)/
distress has worsened under the (C)/ rural economy suggest that rural (D)/

A. CADB B. ABCD C. ADCB D. BDCA E. No rearrangement required

3. modicum of food and economic security (A)/ in the fragile and uncertain lives
(B)/ of poor people in Jharkhand, the (C)/ public distribution system provides a

(D)/

A. CBDA B. BCDA C. BACD D. DABC E. No rearrangement required

4. in handling issues and grievances of affected farmers (A)/ the other, remained
insensitive (B)/ fertile land forcefully and, on (C)/ on the one hand, the state
grabbed (D)/

A. DACB B. DBAC C. CBDA D. DCBA E. No rearrangement required

5. Prior to the long-delayed 2017 (A)/ census, socio-economic planning (B)/ in
Pakistan had used obsolete data, (C)/ widening the gulf between the rich and the
poor (D)

A. ACBD B. DBCA C. CBDA D. CBAD E. No rearrangement required




6. A shift to renewable energy could (A)/ reduce India’s carbon dioxide emissions
(B)/ basis for expanding job creation in India (C)/ and furthermore could be the

(D)/

A. ABDC B. ACBD C. ACDB D. BACD E. No rearrangement required

7. ended, the British erected a monument (A)/ when the Koregaon Bhima battle
(B)/ on which the names of all soldiers (C)/ who died on the battlefield were
carved (D)

A. ADCB B. BDCA C. BACD D. BCAD E. No rearrangement required

8. to Mumbai from Nashik last (A)/ as the implementation of the Forest Rights
Act (B)/ more than 35,000 farmers marched (C)/ week demanding loan waivers
as well (D)/

A. CABD B. CBDA C. CADB D. CBDA E. No rearrangement required

9. Gujarat is the second highest (A)/ coal-consuming state in India (B)/ domestic
coal reserves, (C)/ despite having no (D)/

A. DABC B. DCAB C. DACB D. BACD E. No rearrangement required

10. He hailed the mission (A)/ as an opportunity to (B)/ bring in “smart”
interventions (C)/ to upgrade India’s growing cities (D)

A. CBDA B. BCAD C. BDAC D. BADC E. No rearrangement required




Correct Answers:

1 2 3 4 5 10
A C B D E A C C B E
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Explanations:

1.

Starting fragment:

Fragments A and D can be easily eliminated as both are clearly a continuation of previous
fragments. Fragment B, if taken as the first fragment, does not allow fragment A to fit in. Only C
can be the first fragment.

Connectors:

CandA:

C: JNU promotes a diverse yet inclusive campus

A: and upholds a tradition of dissent which is

A and B:

A: and upholds a tradition of dissent which is

B: in line with protecting the rights of

B and D: D states the conclusion-

B: in line with protecting the rights of

D: free speech and promoting the values of democracy

Hence, option A is correct.
2-

Starting fragment:

Fragments B, C and D can be easily eliminated as all are clearly a continuation of previous
fragments. Only A can be the first fragment.

Connectors:




A and D:

A: Economic indicators relating to

D: rural economy suggest that rural

D and C:

D: rural economy suggest that rural

C: distress has worsened under the
Cand B:

C: distress has worsened under the

B: four years of the present government

Hence, option C is correct.
3l

Starting fragment:

Fragments A and C can be easily eliminated as both are clearly a continuation of previous
fragments.

Fragment D, if taken as the first fragment, does not allow fragment C to fit in. Only B can be the
first fragment.

Connectors:

B and C:

B: In the fragile and uncertain lives

C: of poor people in Jharkhand, the

C and D:

C: of poor people in Jharkhand, the

D: public distribution system provides a

D and A: modicum means a small quantity of something desirable-

D: public distribution system provides a




A: modicum of food and economic security

Hence, option B is correct.
4I

Starting fragment:

Fragments A, B and C can be easily eliminated as all are a continuation of previous fragments.
Only D can be the first fragment.

Connectors:

D and C:

D: On the one hand, the state grabbed

C: fertile land forcefully and, on

C and D: B states the second point-

C: fertile land forcefully and, on

B: the other, remained insensitive

B and A:

B: the other, remained insensitive

A: in handling issues and grievances of affected farmers

Hence, option D is correct.

5.

The fragments are already arranged meaningfully and thus need no more rearrangement.

Hence, option E is correct.
6.

Starting fragment:

Fragments B, C and D can be easily eliminated as all are a continuation of previous fragments.
Only A can be the first fragment.

Connectors:




A and B:

A: A shift to renewable energy could

B: reduce India’s carbon dioxide emissions

B and D: D elaborates on the benefits of shifting to renewable energy-
B: reduce India’s carbon dioxide emissions

D: and furthermore could be the

D and C:

D: and furthermore could be the

C: basis for expanding job creation in India

Hence, option A is correct.
7l

Starting fragment:

Fragments A, C and D can be easily eliminated as all are a continuation of previous fragments.
Only B can be the first fragment.

Connectors:

B and A:

B: When the Koregaon Bhima battle

A: ended, the British erected a monument
Aand C:

A: ended, the British erected a monument
C: on which the names of all soldiers

C and D:

C: on which the names of all soldiers

D: who died on the battlefield were carved

Hence, option Cis correct.




8.

Starting fragment:

Fragments A, B and D can be easily eliminated as all are a continuation of previous fragments.

Only C can be the first fragment.
Connectors:

Cand A:

C: More than 35,000 farmers marched
A: to Mumbai from Nashik last

A and D:

A: to Mumbai from Nashik last

D: week demanding loan waivers as well
D and B:

D: week demanding loan waivers as well
B: as the implementation of the Forest Rights Act

Hence, option C is correct.
9l

Starting fragment:

There are two possibilities here- start with fragment A or with D. When starting with A, the

sequence goes like this- A-B-D-C. However, the comma after reserves in C indicates the statement

is not over and thus C cannot be the last statement. Thus, this can be ruled out. The other

possibility with D is the only option left then.
Connectors:

D and C:

D: Despite having no

C: domestic coal reserves,




Cand A:

C: domestic coal reserves,

A: Gujarat is the second highest
A and B:

A: Gujarat is the second highest
B: coal-consuming state in India
Hence, option B is correct.

10.

The fragments are already arranged meaningfully and thus need no more rearrangement.

Hence, option E is correct.
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